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import xarray as xr
from struct import pack

if _ name__=='__main__':
da = xr.open_dataset('wave.nc")
dat = da['wave']
dat = dat.to_numpy()

f = open('wave.grd','wb")
for x in dat:
for y in x:
for z in y:
z = pack('f',z)
f.write(z)
f.close()
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from struct import unpack
import numpy as np
if __name__=='__main__":
with open('wave.grd','rb') as f:
dat = f.read()
dat = unpack(str(12*181*360)+'f',dat)
dat = np.reshape(dat,(12,181,360))
print(dat.shape)

(12, 181, 360)
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from netCDF4 import Dataset, num2date

if _ _name__=='__main__ ':
f = Dataset('wave.nc')
print(f)

<class 'netCDF4. netCDF4.Dataset'>
root group (NETCDF4 data model, file format HDF5):

dimensions(sizes): time(12), lat(181), lon(369)

variables(dimensions): int64 time(time), int64 lat(lat), int64 lon(lon), floa
t64 wave(time, lat, lon)

groups:

dat = f.variables[ 'wave']
print(dat)

<class 'netCDF4._netCDF4.Variable'>
float64 wave(time, lat, lon)

_Fillvalue: nan

units: unitless

creator: Zhou Y.

destription: A sin wave
unlimited dimensions:
current shape = (12, 181, 3690)
filling on

dat = dat[:]
print(dat.shape) #print(dat)

(12, 181, 360)
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time = f.variables['time"']

print(time[:])

time = num2date(time[:],time.units,calendar="'standard")
print(time)

[ © 31 59 90 120 151 181 212 243 273 304 334]
[cftime.DatetimeGregorian(2100, 1, 1, 0, , has_year_zero=False)
cftime.DatetimeGregorian(2100, 2, 1 , has_year_zero=False)
cftime.DatetimeGregorian(2100, 3, 1 , has_year_zero=False)
cftime.DatetimeGregorian(2100, 4, 1 , has_year_zero=False)
cftime.DatetimeGregorian(2100, 5, 1, has_year_zero=False)
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cftime.DatetimeGregorian(2100, , has_year_zero=False)
cftime.DatetimeGregorian(2100, , has_year_zero=False)
cftime.DatetimeGregorian(2100, , has_year_zero=False)
cftime.DatetimeGregorian(2100, , 0, has_year_zero=False)
cftime.DatetimeGregorian(2100, 10, 1, © , has_year_zero=False)
cftime.DatetimeGregorian(2100, 11, 1, © , has_year_zero=False)
cftime.DatetimeGregorian(2100, 12, 1, © , has_year_zero=False)]
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from netCDF4 import Dataset

import h5py

if __name__=='_main__ ":
f = Dataset('wave.nc')
dat = f.variables['wave']
time = f.variables['time’]
lon = f.variables['lon"][:]



lat = f.variables['lat"][:]

with h5py.File('wave.hdf5', 'w') as fh:
fh['wave'] = dat
fh["time'] = time[:]
fh['lat'] = lat
fh['lon'] = lon
fh['time'].attrs['units'] = time.units
fh['time'].make_scale('time name")
fh['lon'].make_scale('lon name')
fh['lat'].make_scale('lat name')
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import h5py

if

__name__=='_main__

with h5py.File('wave.hdf5"') as f:
print(f)
dat = f['wave']
print(dat)
dat = dat[:]
# print(dat)

<HDF5 file "wave.hdf5" (mode r)>
<HDF5 dataset "wave": shape (12, 181, 360), type "<f8">
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import numpy as np
from eccodes import *
def crdat():

if

__name__=='__main__

lon = np.arange(9,360,2.5)
lat = np.arange(99,-91,-2.5)
X, y = np.meshgrid(lon,lat)
m, n = (1,2)
A = 100*np.sin(n*y/180*np.pi)**2
dat = []
for i in range(12):
tmp = A*np.sin(m*x/180*np.pi-i*np.pi/12)
dat.append(tmp)
time = [''.join(['2100"', '%02i"' %(i+1),'01']) for i in range(12)]
time = [int(x) for x in time]
return time,lat,lon,dat
time, lat, lon, dat = crdat()
sample_id = codes_grib_new_from_samples("regular_11 pl grib2")
keys = {'dataDate':time[0],
'startStep':0,
'endStep':0,
"hour':0,
'gridType':'regular_11",
'stepType':'instant’,
'tablesVersion':28,



'discipline’:0,
'parameterCategory':3,
'parameterNumber':5,
‘decimalPrecision’:3,
'level':500,
"Nx':1len(lon),
"Ny':len(lat),
'latitudeOfFirstGridPointInDegrees':1lat[0],
'longitudeOfFirstGridPointInDegrees':lon[0@],
'latitudeOfLastGridPointInDegrees':lat[-1],
"longitudeOfLastGridPointInDegrees' :lon[-1],
'jDirectionIncrementInDegrees':2.5,
'iDirectionIncrementInDegrees':2.5,
'centre':'babj’,
}
clone_id = codes_clone(sample_id)
with open('wave.grib2','wb') as f:

for t,x in zip(time,dat):
keys['dataDate'] = t
for key in keys:

codes_set(clone_id,key, keys[key])

codes_set_values(clone_id,x.flatten())
codes_write(clone_id,f)
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import pygrib
if __name__=='_main__ ":
with pygrib.open('wave.grib2') as grbs:
for x in grbs:
#print(x.kreys())
dat = x['values']
lon = x['longitudes'].reshape(73,144)
lat = x['latitudes'].reshape(73,144)
import matplotlib.pyplot as plt
plt.pcolormesh(lon,lat,dat,cmap="jet")
plt.show()
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import xarray as xr

if __name__=='__main__":
da = xr.open_dataset('wave.grib2',engine="cfgrib")
# print(da)

Ignoring index file 'wave.grib2.5b7b6.idx' older than GRIB file

{EAxarrayiZBlhdf, grib3{43X1SRYZDataArray45taRIEaiE, LLEIRI{ER
DataArray.to_netcdf()IBEiETZiE AN

da.to_netcdf('wave.grib2.nc")
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import pickle as pk
with open('wave.pkl','wb') as f:
pk.dump({'time':da[ " 'time"'].values,
'lat':da['latitude'].values,
"lon':da[ 'longitude'].values,
'gh':da['gh"].values},f)
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with open('wave.pkl','rb') as f:
dat = pk.load(f)



print(type(dat),dat.keys())
<class 'dict'> dict_keys(['time', 'lat', 'lon', 'gh'])
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